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if (isDebuggerPresent() )
v86 = 66;
else
v86 = 16;
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v24 = time(0);

V79 =v24;

v81 =v24 - v80;
if (V24 -v80>2)
v85 *=2;
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unction name ~ || Address Length Type String

[ stdizoperatoriichar, R  Lgata:0- 00000032 2 C 00 - wlo o lwmlooo wmlo o\ -——r “nin

£ stdizoperatorcCochar, | G o0 00000028 € [#] ebCTF 2013 Teaser — BINLOO — Dice Game

f_ std: :operator<d{char, E .rdata:0e 00000040 C To get the flag vou will need to throw the correct mmbers.

f- std::operater{<<{char, E .rdata:0 00000047 C [#] Tou will first need to throw a three, press enter to thro=

| ek seperaiaLalinms, [s].rdata:0 00000OIE  C [#] Tou rolled a three! Good!

fstdizoperater+Cehar, e | BR L giii00 00000008 ¢ =3we— jeD

£ stdizoperater+Cchar, s | B qcoi00 00000006 ¢ JxtisB

L) stdizoperator>>Catds B pgaiai0e 00000012 ¢ [#] You rolled a

f- std:zoperator>><std: E Lrdata:z0er Q00O00LE C That is not a three :/

fstdzoperatoryodstd: |7 g0 poon0ooF € [#] Gane over!

f- std::operater>>(std: E .rdata:Q- 00000044 C [#] Next vou will need to throw a one, press enter to throw a--

]| Stels seperesiarnpiXe e, ‘s .rdata:0- 00000021 C [#] Tou rolled a one! Very nice!

) stdezoperatoryyCehar,  EF g0 0o ooo00DOE  © \a<owom

f- o3 peperERard s, E crdata:0- O00000LE C That is not a one :/

f- std::operater>><char, E .rdata:0 00000040 C [#] Next you will need to throw anether three, press enter to-

| ek sepereab e, [s] .rdata:o ooooooz1 o [#] Tou rolled a three! Awesome!

f- std::operater>>{char, E .rdata:0 00000041 C [#] Threw another three for me new, press enter to throw a di--

£ std:zoperator>ochar, [5] . rdata:o= 00000030 C [*#] YTou rolled ancther three! ilmost there now!

Bl ehary [5] . rdata:o= 000000SC C [#] The last character yeu need te rell is a seven.... (o Q)

f- §td::o?8rator>><char, E Lrdata:0e 00O00045 C [#] Tou rolled a seven, with a six sided dice! How awesome ar-—

f- ‘non—v:}rtual Hawrls & E Lrdata:z0er Q00O00LE C That is not a seven :/

f| momvirtual thunk te |75 40 0 poonoons € ebCTF

f- ‘norrv:_[rtual thurk tc ‘s’ .rdata:0- O00QOOZE C [#] Tou rolled 5-1-3-3-7, what dees that make you? ELEET! o/

f_ ‘nor'rv1rtual thu.n]!( te M o data : _

f- ‘v?rtual thnk tO!StE s’ . rdata 00000039 C Lz a—did alad Ho flag for you.

£ virtual thuk to'ste |75 5.0 pooosooD  © kernelsz. dll

£ ‘V}rtual Uik to]stt E .rdata:0s 00000012 C IsDebuggerFresent

f- KV}rtual thurk to] ot ‘s'| L rdata:0- 00000011 C basic_string::at

fl virtual thunk to'stiv I .0 & aeens - - o Lo

Wt % X5
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int _ stdcall WinMain(HINSTANCE hInstance, HINSTANCE hPrevInstance, LPSTR lpCmdLine, int nShowCmd)

{
unsigned int v4; // eax
int v5; // eax
int v6; // eax
std::ostream *v7; // eax
int v8; // eax
std::ostream *v9; // eax
std::ostream *v10; // eax
int v11; // eax
std::ostream *v12; // eax
int v13; // eax
std::ostream *v14; // eax
std::ostream *v15; // eax
time_t v16; // eax
std::ostream *v17; // eax
std::ostream *v18; // eax
int v19; // eax
std::ostream *v20; // eax
int v21; // eax
std::ostream *v22: // eax
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std::ostream *v23; // eax
time_t v24; // eax

std::ostream *v25; // eax
std::ostream *v26; // eax

int v27; // eax

std::ostream *v28; // eax

int v29; // eax

std::ostream *v30; // eax
std::ostream *v31; // eax
time_t v32; // eax

std::ostream *v33; // eax
std::ostream *v34; // eax

int v35; // eax

unsigned int v36; // eax

_BYTE *v37; // eax

std::ostream *v38; // eax

int v39; // eax

std::ostream *v40; // eax
std::ostream *v41; // eax
std::ostream *v42; // eax
std::ostream *v43; // eax

int v44; // eax

std::ostream *v45; // eax

int v46; // eax

std::ostream *v47; // eax
std::ostream *v48; // eax
time_t v49; // eax

unsigned int v50; // eax

_BYTE *v51; // eax

unsigned int v52; // eax

_BYTE *v53; // eax

unsigned int v54; // eax
std::ostream *v55; // eax
std::ostream *v56; // eax

int v57; // eax

int v58; // eax

int v59; // eax

std::ostream *v60; // eax

int v6l1; // eax

int v63; // [esp+0h] [ebp-188h]
_BYTE *v64; // [esp+3Ch] [ebp-14Ch]
int v65; // [esp+60h] [ebp-128h]
struct SjLj_Function_Context fctx; // [esp+64h] [ebp-124h]
void *v67; // [esp+88h] [ebp-100h]
int *v68; // [esp+8Ch] [ebp-FCh]
int j; // [esp+98h] [ebp-Feh]
int i; // [esp+9Ch] [ebp-ECh]
int v71; // [esp+A@h] [ebp-E8h]
int v72; // [esp+B@h] [ebp-D8h]
int v73; // [esp+C@h] [ebp-C8h]
int v74; // [esp+Doh] [ebp-B8h]
int v75; // [esp+E@h] [ebp-A8h]
int v76; // [esp+F@h] [ebp-98h]
int v77; // [esp+1@0h] [ebp-88h]
int v78; // [esp+11@h] [ebp-78h]
time_t v79; // [esp+120h] [ebp-68h]
time_t v80; // [esp+124h] [ebp-64h]
int v81; // [esp+128h] [ebp-606h]
int v82; // [esp+12Ch] [ebp-5Ch]



char v83; // [esp+1306h] [ebp-58h]
char v84; // [esp+140h] [ebp-48h]
int v85; // [esp+158h] [ebp-306h]
int v86; // [esp+15Ch] [ebp-2Ch]
char v87; // [esp+160h] [ebp-28h]
char v88; // [esp+1706h] [ebp-18h]

fctx.personality = _ gxx_personality_s3je;
fctx.lsda = dword_44176C;

fctx.jbuf[0] = &v88;

v67 = &loc_402B5C;

V68 = &v63;
_Unwind_SjLj_Register(&fctx);
fctx.call_site = -1;
std::string::string(&v87);

v85 = 6;

fctx.call_site = 17;
std::string::string(&v84);
fctx.call_site = 16;
std::string::string(&v83);

v4 = time(9);

srand(v4);
std::allocator<char>::allocator(&v77);
fctx.call_site = 14;
std::string::string(&v78, " ------- \n|
std::allocator<char>::~allocator(&v77);
std::allocator<char>::allocator(&v76);
fctx.call_site = 12;
std::string::string(&v77, " ------- \n|
std::allocator<char>::~allocator(&v76);
std::allocator<char>::allocator(&v75);
fctx.call_site = 10;
std::string::string(&v76, " ------- \n|
std::allocator<char>::~allocator(&v75);
std::allocator<char>::allocator(&v74);
fctx.call_site = 8;
std::string::string(&v75, " ------- \n| 0
std::allocator<char>::~allocator(&v74);
std::allocator<char>::allocator(&v73);
fctx.call_site = 6;
std::string::string(&v74, " ------- \n| O
std::allocator<char>::~allocator(&v73);
std::allocator<char>::allocator(&v72);
fctx.call_site = 4;
std::string::string(&v73, " ------- \n| O
std::allocator<char>::~allocator(&v72);
std::allocator<char>::allocator(&v71);
fctx.call_site = 2;
std::string::string(&v72, " ------- \n| 0
std::allocator<char>::~allocator(&v71);
fctx.call_site = 1;

if ( isDebuggerPresent() )

v86 = 66;
else
v86 = 16;

fctx.call_site = 1;

I\n| 0 |\n|

0 [\n| I\n|

0 |\n] 0 |\n|

0 [\n| I\n|

0 |[\n] 0 |\n|

0 |[\n|] 0 0 |\n|

0 |\n] 000 |\n|

O

O

O

O

O

v5 = std::ostream::operator<<(&std::cout, std::endl<char,std::char_traits<char>>);
std: :operator<<<std::char_traits<char>>(v5, "[*] ebCTF 2013 Teaser - BIN10© - Dice Game");
v6 = std::ostream::operator<<(&std::cout, std::endl<char,std::char_traits<char>>);

v7 = <td: anaratarc¢cecectd: crchar traitcecharss(vA

, &v77);

&v76);

, &v75);

&v74);

&v73);

, &v72);

&v71);

" Ta oet the flaoc van will need +na throw the

rorract
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v8 = std::ostream::operator<<(v7, std::endl<char,std::char_traits<char>>);
std::ostream: :operator<<(v8, std::endl<char,std::char_traits<char>>);
v9 = std::operator<<<std::char_traits<char>>(

&std: :cout,

"[*] You will first need to throw a three, press enter to throw a dice!");
std::ostream: :operator<<(v9, std::endl<char,std::char_traits<char>>);
std::getline<char,std: :char_traits<char>,std::allocator<char>>(&std::cin, &v83);
v80 = time(9);
v82 = rand() % 6 + 1; // BUBEHLEBR6EA, RIGBEAML-63TX, BMBEREFE(3-1-3-3-7
if (v82 ==1)

std: :operator<<<char,std: :char_traits<char>,std::allocator<char>>(&std::cout, &v78);
if (v82 == 2)
{

fctx.call_site = 1;

std: :operator<<<char,std: :char_traits<char>,std::allocator<char>>(&std::cout, &v77);
}
if ( v82 == 3 )
{

fctx.call_site = 1;

std: :operator<<<char,std: :char_traits<char>,std::allocator<char>>(&std::cout, &v76);
}
if (v82 == 4 )
{

fctx.call_site = 1;

std: :operator<<<char,std::char_traits<char>,std::allocator<char>>(&std::cout, &v75);
}
if ( v82 ==5)
{

fctx.call_site = 1;

std: :operator<<<char,std::char_traits<char>,std::allocator<char>>(&std::cout, &v74);
}
if ( v82 ==6 )
{
fctx.call_site = 1;
std: :operator<<<char,std::char_traits<char>,std::allocator<char>>(&std::cout, &v73);
}
if ( v82 == 3 ) /] BB N3
{
fctx.call_site = 1;
v10 = std::operator<<<std::char_traits<char>>(&std::cout, "[*] You rolled a three! Good!");
vll = std::ostream::operator<<(v1le, std::endl<char,std::char_traits<char>>);
std::ostream: :operator<<(vll, std::endl<char,std::char_traits<char>>);

v85 *= 2;

std::string: :operator=(&v84, &byte 444240),;

vl6 = time(0);

v79 = v16;

v8l = vl16 - v80;

if ( vie - v80 > 2 ) // BRI R E S R R IR R T2
v85 *= 2;

fctx.call_site = 1;
v1l7 = std::operator<<<std::char_traits<char>>(

&std::cout,

"[*] Next you will need to throw a one, press enter to throw a dice!");
std::ostream: :operator<<(v1l7, std::endl<char,std::char_traits<char>>);
std::getline<char,std::char_traits<char>,std::allocator<char>>(&std::cin, &v83);
v80 = time(0);
v82 = rand() % 6 + 1;
if (v82 ==1)

std: :operator<<<char,std: :char_traits<char>,std::allocator<char>>(&std::cout, &v78);



if ((v82 == 2 )

{

fctx.call _site = 1;

std: :operator<<<char,std:
}
if ( v82 == 3 )
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if ( v82 == 4)
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if ( v82 == 5)
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if (v82 == 6 )
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if (v82 == 1)
{

fctx.call_site = 1;
v18 =

v19 =

std:

v85 += 4;

std:

v24 = time(0);

V79 = v24;

v8l = v24 - v80;

if (v24 - v80 > 2 )
v85 *= 2;

fctx.call_site = 1;
v25 =
&std::cout,

"[*] Next you will need to throw another three, press enter to throw a dice!");

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

/] BB AL

:string::operator=(&v87, &byte 444309);

std: :operator<<<std::char_traits<char>>(

std::ostream: :operator<<(v25, std::endl<char,std::char_traits<char>>);
std::getline<char,std::char_traits<char>,std::allocator<char>>(&std::cin, &v83);

v80 = time(0);
v82 = rand() % 6 + 1;
if (v82 ==1)

std: :operator<<<char,std

if ((v82 ==2)

{
fctx.call_site = 1;

std: :operator<<<char,std

)
if ((v82 == 3 )

{
fctx.call _site = 1;

std: :operator<<<char,std

)
if (v82 ==4)

i

::char_traits<char>,std

::char_traits<char>,std

::char_traits<char>,std

::allocator<char>>(&std: :cout, &v78);

::allocator<char>>(&std: :cout, &v77);

::allocator<char>>(&std: :cout, &v76);

:cout,

:cout,

:cout,

:cout,

:cout,

&v77);

&Vv76);

&Vv75);

&v74);

&v73);

std: :operator<<<std::char_traits<char>>(&std::cout, "[*] You rolled a one! Very nice!");
std::ostream: :operator<<(v18, std::endl<char,std::char_traits<char>>);
:ostream: :operator<<(v19, std::endl<char,std::char_traits<char>>);



}

fctx.call _site = 1;

std: :operator<<<char,std: :char_traits<char>,std

if ( v82 == 5)

{

}

fctx.call_site = 1;

std: :operator<<<char,std: :char_traits<char>,std

if ( v82 == 6 )

{

}

fctx.call_site = 1;

::allocator<char>>(&std: :cout, &v75);

::allocator<char>>(&std: :cout, &v74);

std: :operator<<<char,std: :char_traits<char>,std::allocator<char>>(&std::cout, &v73);

if ((v82 == 3 )

{

fctx.call_site = 1;

V26 =

v27 =

std:

v85 *= 3;

v32 = time(9);
v79 = v32;

v8l = v32 - v80;

if (v32 - v80 > 2)
v85 *= 2;
fctx.call_site = 1;
v33 =
&std: :cout,

/] BEZUEHA3

std: :operator<<<std: :char_traits<char>>(

:ostream: :operator<<(v27, std::endl<char,std::char_traits<char>>);

std::ostream: :operator<<(v26, std::endl<char,std::char_traits<char>>);

"[*] Throw another three for me now, press enter to throw a dice!");

std::ostream: :operator<<(v33, std::endl<char,std::char_traits<char>>);

std::getline<char,std::char_traits<char>,std::allocator<char>>(&std::cin, &v83);

v80 = time(9);
v82 = rand() % 6 + 1;
if (v82 ==1)

std: :operator<<<char,std:

if ((v82 ==2)

{
fctx.call_site = 1;

std: :operator<<<char,std:

}
if ( v82 == 3 )

{
fctx.call_site = 1;

std: :operator<<<char,std:

)
if (v82 ==4)

{
fctx.call_site = 1;

std: :operator<<<char,std:

}
if (v82 ==5)

{
fctx.call_site = 1;

std: :operator<<<char,std:

}
if (v82 ==6 )

{
fctx.call_site = 1;

std: :operator<<<char,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:cout,

:cout,

:cout,

:cout,

:cout,

:cout,

std: :operator<<<std::char_traits<char>>(&std::cout, "[*] You rolled a three! Awesome!");

&v78);

&v77);

&v76);

&v75);

&v74);

&v73);



}

if ((v82 == 3 )

{

fctx.call_site = 1;
v34 =
v35 =
std:
v85
for (1 =0; ; ++1 )

{

+= 2;

fctx.call_site = 1;

/7 FBURBHA3

v36 = std::string::size(&v87);

if (1 >= v36 )

break;

v37 = std::string::operator[](&v87,

*vy37 ~= v86;

}
v79 = time(9);
v8l = v79 - v80;

if (v79 - v80 > 2 )
v85 *= 2;
fctx.call_site = 1;
v42 =
&std: :cout,

"[*] The last character you need to roll is a seven....

i);

std: :operator<<<std::char_traits<char>>(

:ostream: :operator<<(v35, std::endl<char,std::char_traits<char>>);

(0_0)

std::ostream: :operator<<(v42, std::endl<char,std::char_traits<char>>);

std::getline<char,std::char_traits<char>,std::allocator<char>>(&std::cin, &v83);

v80 = time(0);
if (v82 ==1)

std: :operator<<<char,std:

if (v82 == 2 )

{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if ( v82 == 3 )
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if (v82 == 4 )
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if ( v82 == 5 )
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if ( v82 == 6 )
{

fctx.call_site = 1;

std: :operator<<<char,std:
}
if (v82 ==7)
{

fctx.call_site = 1;

std: :operator<<<char,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:char_traits<char>,std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std:

:allocator<char>>(&std::

std::ostream: :operator<<(v34, std::endl<char,std::char_traits<char>>);

cout,

:cout,

:cout,

:cout,

:cout,

:cout,

:cout,

std: :operator<<<std: :char_traits<char>>(&std::cout, "[*] You rolled another three! Almost t

Press enter to throw a di

&v78);

&Vv77);

&v76);

&v75);

&v74);

&v73);

&v72);



i)

if ((v82 == 7 )

{

fctx.call _site = 1;
v43 =
&std: :cout,

std: :operator<<<std: :char_traits<char>>(

/] BRREHNT

"[*] You rolled a seven, with a six sided dice! How awesome are you?!");

v44 =
std:
v85 *=
v85 *=
v85 /=
v85
v85 -= 65;
v85 *= 42;
v85 /= 42;
v49 = time(9);
V79 = v49;
v8l = v49 - v80;
if (v49 - v80 > 2 )
v85 *= 2;
for (1 =0; ; ++1 )
{
fctx.call_site =
v50 = std
if (1 »>=

2;

50;
50;
65;

1;
::string::size(&v87);
v50 )
break;
v51 = std::string::operator[](&v87,
*v51 "= v85;
}
i=0;
for ((j =0; ; ++j )
{
fctx.call_site = 1;
v52 = std::string::size(&v84);
if ( j >= v52)
break;
v64 = std::string::operator[](&v84,
v53 = std::string::operator[](&v87,
*v64 ~= *y53;
++1;
v54 = std::string::length(&v87);
if (i >=v54)
i=09;

}

fctx.call_site = 1;

i);

3)s
i);

if ( std::string::find(&v84, "ebCTF", @) == -1 )

{

fctx.call_site =
v59
V60 =

1;

v59,

std::ostream: :operator<<(&std::cout, std
std: :operator<<<std: :char_traits<char>>(

std::ostream: :operator<<(v43, std::endl<char,std::char_traits<char>>);
:ostream: :operator<<(v44, std::endl<char,std::char_traits<char>>);

::endl<char,std: :char_traits<char>>);

"[!] It seems yot did something wrong :( No flag for you.");

v6l =
std:
fctx. 3;
std::string::~string(&v72);
fctx. 5;
std::string::~string(&v73);
fctx. 7;

call_site =

call _site =

call_site =

std::ostream: :operator<<(veo, std::endl<char,std::char_traits<char>>);
:ostream: :operator<<(véel, std::endl<char,std::char_traits<char>>);



}

std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
v65
}

else

{
v55

std:
v56

v57

v58

std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:
fctx
std:

else

{

fctx.c
v45 =
V46 =
V47 =
std::o
V48 =
std::o
fctx.c

:string::~string(&v74);
.call _site = 9;
:string::~string(&v75);
.call site = 11;
:string::~string(&v76);
.call site = 13;
:string::~string(&v77);
.call site = 15;
:string::~string(&v78);
.call site = 16;
:string::~string(&v83);
.call site = 17;
:string::~string(&v84);
.call site = -1;
:string::~string(&v87);
= 0;

= std::operator<<<std::char_traits<char>>(

&std::cout,

"[*] You rolled 3-1-3-3-7, what does that make you? ELEET! \\o/");
:ostream: :operator<<(v55, std::endl<char,std::char_traits<char>>);

= std::operator<<<std::char_traits<char>>(&std::cout, "[*] Nice job, here is the flag:

= std::operator<<<char,std::char_traits<char>,std::allocator<char>>(v56, &v84);
= std::ostream::operator<<(v57, std::endl<char,std::char_traits<char>>);
:ostream: :operator<<(v58, std::endl<char,std::char_traits<char>>);
.call_site = 3;

:string::~string(&v72);

.call_site = 5;

:string::~string(&v73);

.call_site = 7;

:string::~string(&v74);

.call_site = 9;

:string::~string(&v75);

.call_site = 11;

:string::~string(&v76);

.call_site = 13;

:string::~string(&v77);

.call_site = 15;

:string::~string(&v78);

.call_site = 16;

:string::~string(&v83);

.call_site = 17;

:string::~string(&v84);

.call_site = -1;

:string::~string(&v87);

all site = 1;
std: :operator<<<std::char_traits<char>>(&std::cout, "[*] You rolled a ");
std::ostream: :operator<<(v45, v82);

std: :operator<<<std: :char_traits<char>>(v46, That is not a seven :/");
stream: :operator<<(v47, std::endl<char,std::char_traits<char>>);

std: :operator<<<std::char_traits<char>>(&std::cout, "[*] Game over!");
stream: :operator<<(v48, std::endl<char,std::char_traits<char>>);

all site = 3;



sta:

fctx.

std:

fctx.

std:
fctx
std:

fctx.

std:

fctx.

std:
fctx
std:

fctx.

std:

fctx.

std:

fctx.

std:
V65

}

else

{
fctx.c
v38
v39
V40 =

:string::~string(&v72);
call site = 5;
:string::~string(&v73);
call site = 7;
:string::~string(&v74);
.call site = 9;
:string::~string(&v75);
call site = 11;
:string::~string(&v76);
call site = 13;
:string::~string(&v77);
.call site = 15;
:string::~string(&v78);
call site = 16;
:string::~string(&v83);
call site = 17;
:string::~string(&v84);
call site = -1;
:string::~string(&v87);
= 0;

all site = 1;

std: :operator<<<std::char_traits<char>>(&std::cout, "[*] You rolled a ");

std::ostream: :operator<<(v38, v82);

std: :operator<<<std::char_traits<char>>(v39, " That is not a three :/");

std::ostream: :operator<<(v40, std::endl<char,std::char_traits<char>>);

v4l =

std: :operator<<<std::char_traits<char>>(&std::cout,

[*] Game over!");

std::ostream: :operator<<(v4l, std::endl<char,std::char_traits<char>>);

fctx.c

all site = 3;

std::string::~string(&v72);

fctx.c

all site = 5;

std::string::~string(&v73);

fctx.c

all_site = 7;

std::string: :~string(&v74);
fctx.call_site = 9;
std::string::~string(&v75);
fctx.call_site = 11;
std::string::~string(&v76);
fctx.call_site = 13;
std::string: :~string(&v77);
fctx.call_site = 15;
std::string::~string(&v78);
fctx.call_site = 16;
std::string::~string(&v83);
fctx.call_site = 17;
std::string::~string(&v84);
fctx.call_site = -1;
std::string::~string(&v87);
V65 = 0;
}

}

else

{

fctx.call _site = 1;
v28 = std::operator<<<std::char_traits<char>>(&std::cout, "[*] You rolled a ");

v29
v30

std::ostream: :operator<<(v28, v82);
std: :operator<<<std::char traits<char>>(v29,

" That is not a three :/");



}
el

{

else

std::ostream: :operator<<(v30, std::endl<char,std::char_traits<char>>);
v31 = std::operator<<<std::char_traits<char>>(&std::cout, "[*] Game over!");

std:

fctx.

std:
fctx
std:

fctx.

std:

fctx.

std:
fctx
std:

fctx.

std:

fctx.

std:
fctx
std:

fctx.

std:

fctx.

std:
V65

se

fctx.c
V20 =
v21l =
v22 =

:ostream: :operator<<(v31l, std::endl<char,std::char_traits<char>>);

call site = 3;
:string::~string(&v72);
.call site = 5;
:string::~string(&v73);
call site = 7;
:string::~string(&v74);
call site = 9;
:string::~string(&v75);
.call site = 11;
:string::~string(&v76);
call site = 13;
:string::~string(&v77);
call site = 15;
:string::~string(&v78);
.call site = 16;
:string::~string(&v83);
call site = 17;
:string::~string(&v84);
call site = -1;
:string::~string(&v87);
= 0;

all_site = 1;

std: :operator<<<std::char_traits<char>>(&std
std::ostream: :operator<<(v20, v82);

::cout, "[*] You rolled a ");

std::operator<<<std::char_traits<char>>(v21, " That is not a one :/");

std::ostream: :operator<<(v22, std::endl<char,std::char_traits<char>>);

v23 =

std: :operator<<<std::char_traits<char>>(&std::cout, "[*] Game over!");

std::ostream: :operator<<(v23, std::endl<char,std::char_traits<char>>);
fctx.call_site = 3;
std::string: :~string(&v72);
fctx.call_site = 5;
std::string: :~string(&v73);
fctx.call_site = 7;
std::string: :~string(&v74);
fctx.call_site = 9;

std::string::~string(&v75);
fctx.call_site = 11;
std::string::~string(&v76);
fctx.call_site = 13;
std::string::~string(&v77);
fctx.call_site = 15;
std::string::~string(&v78);
fctx.call_site = 16;
std::string::~string(&v83);
fctx.call_site = 17;
std::string::~string(&v84);
fctx.call_site = -1;
std::string::~string(&v87);
V65 = 0;



fctx.
vl2 =
vl3 =
vl4 =

call site = 1;

std: :operator<<<std: :char_traits<char>>(&std::cout, "[*] You rolled a ");

std::ostream: :operator<<(vi2, v82);

std: :operator<<<std::char_traits<char>>(v13, " That is not a three :/");

std::ostream: :operator<<(vl4, std::endl<char,std::char_traits<char>>);

v1l5 =

std: :operator<<<std: :char_traits<char>>(&std::cout, "[*] Game over!");

std::ostream: :operator<<(vl5, std::endl<char,std::char_traits<char>>);

fctx.
std:
fctx.
std:
fctx
std:
fctx.
std:
fctx.
std:
fctx
std:
fctx.
std:
fctx.
std:
fctx
std:
fctx.
std::
V65 =
}

_Unwind_SjLj_Unregister(&fctx);

call site = 3;

:string::~string(&v72);

call site = 5;

:string::~string(&v73);
.call site = 7;
:string::~string(&v74);

call site = 9;

:string::~string(&v75);

call site = 11;

:string::~string(&v76);
.call site = 13;
:string::~string(&v77);

call site = 15;

:string::~string(&v78);

call site = 16;

:string::~string(&v83);
.call site = 17;
:string::~string(&v84);

call_site = -1;
string::~string(&v87);
0;

return v65;

Flease &

! SLU. .EELLLNESLIAIl 3 LU
I veEd = time(@);
' rand() % 6 + 1;
V82 == 1)
std::operator<<<char,std::char_traits<char>,std::allocator<char>>(&std::cout, &78);
if (w82 =2 )

nter comment

s ldl_LIMdLLSS0LIdN A 3 LU . L dl Ll d LTS LIdDl A4 05 LU, UL, DIVOD ),

/1 BEENERR6ER, MEETML-6AT X L,

pr<char>>(&std: icout, &v/7);

e

Bkt EuREHEE

" UE HEF RN — M A

e 5 1~6HEAT ELEL

EERSE3-
H b ATTH

AR T Z R A1 nop (R 77 BN AT

1-3-3-TRD
B A 2 jnz

WEETLE RS, AEENH-eiiTR L, BiEHEF
(3-1-3-3-7)3 kL, MEFIERNEL

pr<char>>(&std::cout, &v76);

BHIBEAmEITF(



B 6 B 5 R ELRAE IDAF B 155 (BLE AT, )

BRERZIEZODERASCIN N7 8 LR EI KR IAHEjnz nop

AN AT
FEERWREE —Nebb¥E WFE Enop

| 00402999 C785 EOFEFFFImov dword ptr ss:[ebp-8x128],

B04029A3 ES 48300100 (call Dice.004159F0

83F8 FF cmp eax,

74 6E l short Dice.B80402A1B

C74424 04 DB{mMOV auwora ptr ss:|esp+uxy],Dice.0baynyD
00402985 C70424 CO734{mov dword ptr ss:[esp],Dice.DB4473CO
B04029BC E8 97D30300 |call Dice.B043FD58
084829C1 C7u4424 04 28lmov dword ptr ss:[esp+0x4],Dice.BB43EB2
004029C9 800424 mov dword ptr ss:[esp],eax

E8 DFB20200 |call Dice.0042DCB
00402901 C74424 04 18{mov duword ptr ss:
00402909 C70424 CO734{mov dword ptr ss:
il 2 7 g o

[

a

[esp+0x4] ,Dice. 0044451
[esp],Dice.004473C0

RIERF BT MEREA RIWAEEfag

; 1|y
[*] You rolled 3-1-3-3-7, what does that make you? ELE

[#] Hice job, here is the flag:

o0 - M NDTTO M

—
=




Throw another three for me now, pr enter to throw a ¢

nter to throw a d

BAY: BidEAtme() XAl REEFEHA .
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